_______________________________________________________________________________________________________________________|
06

1

1 (-6)+2

(2) 6a+3b-—(3a->5b)

@) (5+1)H5-1)

(4 x*-7x-30
B) v x x 3 y 8 X 4 y
(6) 5 12 3 45 2
2
) 0 A (4, 0) A
B ©, 2) OABC ]
5_-
2 A B T
<t
5 i :Q —— ; -
y =ax’ C a a

06 1/9 X http://www.study-x.com/



06

2

ABCD-EFGH

AB

CG
HG

AB 7cm AD 9cm AE 5cm

AE BF Al BJ 4cm
A D Q BC
AP BQ P 11
PLIQ
AP Al BQ BIJ
PIIQ
EQ
ABCD-EFGH PIIQ
PIEHD-QJFGC AIP-BIQ

2/9

BQ

H /[ G
A
B
E F
2 D c
: 0
Ho....A--Jg
A
1: ’ B
14+ !
E F
. Q
Heooooo fofonens G
A ’
B
I", !
E F

X http://www.study-x.com/



1
(1) 7+(-2)x3-4

a+4b_3a—b
3 2

)

@) (3+\T)W3-T)+({3+1)

(@) A B A 3 1 3 5 B
3 5 7 9
A B 1 A B
B A A 3
B 3
(5) m y=§x2 A B Y
4 L m
m C D x A X \
B x A A z B
C C DD BB A
ACDB D x
X 1 y
1
-5 C 9] D 5%

06 3/9 X http://www.study-x.com/



2 1 3 ABCD-EFGH AB 7cm =1

AD 3cm AE 2cm P DH
D H
@ 1 P F PF
9cm PH
2 2 3 Q FG F
G
PQ AB
AB S H Q
HQ EF R
RS//DH RSFB
PA HE
AB/ITQ
2 RB xcm
ycm O<x<7
3 RB 2cm
3
QF
ATE-BQF PHQ

06 4/9 X http://www.study-x.com/



37 1
1 1
@] P 1
OP 600cm ®
e P OoP (0]
k cm Q X X
0oQ
E1
1B D 2B 3E® x ¥ H D
SR D— I D J DAL (& JOALE I OALE DA
S - * O —
0 . - P‘\“‘ ‘/’, \\\‘ ‘ % Q
T 600em k cm k cm
(1) k 150 X ycm
Xy () ()
X 2 3 4 10
y 750 ) ) @
X 2 y X
y 4500 X
06 5/9

X http://www.study-x.com/



@ T A B2 1

1
A B2 1 k
A B
150 A B 5000cm
ab ab 2
A B
1
3 5
k 100 120
a b

06 6/9 X http://www.study-x.com/



4 1 2

8cm E
EBFG

EBFG=

ABCD 2

EBCD
AB AD
AH 3cm

wm 1
EBFG FG

HFB

AHI GEl

ED

@ 2 J
J EBCD
EBCD EBC

06 719

ABCD AB 13cm AD
AD A D
EG/IBF
EBFG FG
H FG AB
I FG AD

a< KBJ

=1

X2

HIB=

G
A 1 “\E D

B C
G
A 1 “\E D
H
J
B C
HFB
KBJ a

X http://www.study-x.com/



1 3

(2) 3a+8b

Q) 4

4) (x=10)(x+3)
() 6

© —
(")

1)
@) 282 cm?

( )
BQ xcm
PIEHD-QJFGC

BQJ
BQJ BCGF

v 3
2)

(3) 243
(4)

©)
2

Q) V23 cm

@ ( )

QSF QHF
QS:QH SFHG x:7
QSR QHP

06 8/9

3@ cm

AIP-BJQ

QCGFJ 1 2
1

QS:QH RS:PH 2y

X7 2y
xy 14
_14

X

14
() y=—
X
—Cm
5

34 cm®
5

3

@) ( )90 ( )1050 ( )1950

y =150x + 450
x=27
2)( )
150
3a+5b =150

5000cm

100(a —1) + 600+120(b —1) + 600 = 5000

2

3a+5b =150
100a +120b = 4020

a=15b=21
() a=15b=21
4
(1) 13cm
24cm?
« )
AHI GEI
AlH  GIE(
ABCD

EBFG= EBCD

IAH IGE 90<=

) )

EBFG= EBCD

FBC 2a

FBH 2a 90
HIB= HFB
JBH 2a 90

X http://www.study-x.com/



HBK 90 a

KBJ JBH HBK
2a 90 (90 a)

3a 180

() (Ba 180)=

06 9/9 X http://www.study-x.com/



